Fraser & Ormiston

Question 1.8 – Solution

a. Annual depreciation Expense, using straight-line method, is calculated as the “depreciable base” (original cost less estimated salvage value at the end of the asset’s useful life) divided by the useful life.  In this case: $450,000 – $0 useful life / 15 years =$30,000.  Notice this is an Expense and is reported as part of the expenses on the Income Statement.  At the end of each accounting period, ALL income statement account balances are ‘reset to zero’.  This process is called closing the books, and the NET DIFFERENCE between all revenue and expense account (that is, all Income Statement accounts) are transferred to Retained Earnings – a Balance Sheet account.

b. Accumulated depreciation is a contra asset account.  That means, increases to this account cause assets to decrease.  As a Balance Sheet account (as all assets are) the balance is not ‘reset to zero’ at the end of the accounting period – the account balance is not ‘closed out’.  At the end of year 1, accumulated depreciation is $30,000 = year 1 depreciation expense.  At the end of year 2, accumulated depreciation is $60,000 – the accumulation of year 1 and year 2 depreciation expense.

c. Net fixed assets, at the end of each year, equals original cost of fixed assets – accumulated depreciation.  Another term for net fixed assets is ‘book value’ of fixed assets.  At the end of year 1 this equals $450,000 - $30,000 (year 1 depreciation); at the end of year 2 this equals $450,000 – 60,000 (year 1 + year 2 depreciation).  

d. For a number of items in the financial statements there is a difference between “financial reporting” and “tax reporting” – often referred to as the difference between ‘book’ and ‘tax’.  IF, in year 1, ‘book’ depreciation expense is $30,000 (calculated in part a above) and ‘tax’ depreciation deduction is $45,000; THEN depreciation reported for tax purposes exceeds depreciation for book purposes by $15,000.

e. Income tax expense reported on the Income Statement WILL RARELY BE THE SAME AMOUNT AS ACTUAL INCOME TAX PAID THAT YEAR.  That is a direct result of d) above – numerous items are accounted for differently for ‘book’ and ‘tax’ purposes.  So what does this mean for our depreciation example?  Remember that expenses DECREASE income.  So when you talk about the tax effect of an expense you are asking ‘by what amount will my income be reduced as a result of this expense?’  AND, as income is reduced, so is income tax – which is, after all, a tax on income.  Therefore, the tax effect of any expense is the expense amount * the income tax rate.  That equals the amount by which income tax will decrease as a result of expenses increasing.  Go over that last sentence slowly until it makes sense to you!!

Tax return: $45,000 depreciation deduction * 30% tax rate = $13,500 reduction in income tax due to depreciation deduction.

Income statement: $30,000 depreciation expense * 30% tax rate = $9,000 reduction in income tax expense due to depreciation expense.

An additional point needs to be made here.  Over the useful life of this fixed asset, on BOTH the Income Statement and the tax return the total depreciation will be CUMULATIVELY the same.  It’s just that the pattern of depreciation in each year will differ.

